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1.
Comets are actually not members of the solar system.
a.  True
b.  False

2.
There are two high and two low tides each day on Earth.
a.  True
b.  False

3.
Weather occurs in the troposphere.


a.
True
b.  False

4.
Chromatic aberration affects only reflecting telescopes.   a.  True
b.  False

5.
The Van Allen belts are the various layers of clouds occurring in the Earth's atmosphere.


a.
True
b.  False

6.
Micrometeorites do not impact on the Moon but rather settle to the surface and form a dusty layer.


a.
True
b.  False

7.
Recent observations of Pluto now indicate that it is a terrestrial-type planet, not a jovian planet.


a.
True
b.  False

8.
Angular resolution improves with increases in mirror or lens diameter and worsens with increasing wavelength.  a.  True
b.  False

9.
Few of the craters on the Moon are the result of volcanism.  a.  True
b.  False

10.
The magnetic field of the Earth is not permanent, it is generated in the interior of the Earth.


a.
True
b.  False

11.
The largest optical telescopes now under construction have diameters up to 12 m in size.


a.
True
b.  False

12.
Lava from volcanic eruptions originates in the core of the Earth.  a.  True
b.  False

13.
Analysis of lunar rocks indicates that it formed far from the Earth and must have been captured at a later date.  a.  True
b.  False

14.
Most planets orbit the Sun in nearly the same plane as Earth.   a.  True
b.  False

15.
Mercury's 3:2 spin-orbit resonance is merely a coincidence; there is no physical reason why this should occur.  a.  True
b.  False

16.
The Titius-Bode Law breaks down for the outer planets.
a.  True
b.  False

17.
The primary purpose of a telescope is to magnify the image.   a.  True
b.  False

18.
Using lasers, the distance to the Moon can be measured within centimeters.
a.  True  b.  False

19.
Greenhouse gases in Earth's atmosphere raise the average temperature by about 80 degrees Celsius.
a.  True
b.  False

20.
Mercury and Earth have about the same average density.
a.  True
b.  False

21.
Venus has no moons.  a.  True
b.  False

22.
Seismic P-waves can travel through both solid and liquid material.  a.  True
b.  False

23.
Mercury's orbit has a very small eccentricity.


a.
True
b.  False

24.
The Hubble Space Telescope was built to make x-ray observations.  a.  True
b.  False

25.
Voyager 2 visited all the jovian planets.


a.
True
b.  False

26.
Earth's inner core is about the same temperature as the Sun's surface.  a.  True
b.  False

27.
Radio telescopes have poor angular resolution because radio waves have long wavelengths compared to visible light.  a.  True
b.  False

28.
There are three primary Van Allen belts.


a.
True
b.  False

29.
Both Mercury and the Moon have weird terrain.


a.
True
b.  False

30.
What is the primary ingredient in the Earth's atmosphere?  a.  Nitrogen  b.  Oxygen     


c.  Nitrogen and oxygen in equal amounts.


d.
Hydrogen  e.   Carbon dioxide

31.
Mercury probably has a significant iron core.


a.
True
b.   False

32.
What are two advantages of large telescopes over small ones?


a.
Large telescopes have a wider field of view and a sharper focus.


b.
Large telescopes collect more light than small ones and they bring the light to a sharper focus.


c.
Large telescopes are easier to mount than small telescopes and they collect more light.


d.
Large telescopes are heavier and therefore more stable and accurate in pointing.

33.
Which of the following are the terrestrial planets?


a.
Mercury, Venus, Earth, Mars, Pluto.    b.   Earth, Mars, Jupiter, Saturn.  c.  Earth only.  d.   Mercury, Venus, Earth, Mars.

34.
The oldest rocks on Earth are dated to be:


a.
Nearly a billion years old.    b.  Nearly 4 billion years old. 
c.  Nearly 10 billion years old.  d.  No more than about 5,000 years old.

35.
What is the primary advantage of the Hubble Space Telescope over ground-based telescopes?


a.
It is above the atmosphere.


b.
It is the largest telescope ever built.


c.
Its mirror is the most perfect ever built.


d.
Its instruments are more sophisticated than any on Earth.

36.
What is the goal of comparative planetology?


a.
To find out which planets might be most suitable for human habitation.


b.
To help plan visits by unmanned spacecraft.


c.
To determine the origin and evolution of the solar system.


d.
all of the above    e.  none of the above

37.
Name two places on Earth where convection is operating on a large scale, creating natural phenomena that are important features for life on Earth.


a.
In the atmosphere and the mantle.  b.  In the two Van Allen belts.   c.  In the crust and the exosphere.   d.  all of the above   e. none of the above

38.
The average rate of erosion on the Moon is far less than that on the Earth because:


a.
The crust of the Moon is denser than the Earth's crust.  b.
The Moon lacks wind and running water.  c.
The Moon is younger than the Earth.


d.
There are no tidal forces acting on the Moon.

39.
Why do astronomers want to study the entire range of energy from stars and other objects in space?


a.
Different wavelengths of radiation reveal different things about the object studied.


b.
Looking at the universe at different wavelengths reveals whole new classes of objects.


c.
The emission of electromagnetic radiation is the result of many common physical processes which reveal much about the object being studied.


d.
all of the above


e.
none of the above

40.
Which of the following objects produces most of the tidal effect on Earth?


a.
Venus.
b.  Jupiter.    c.  Mars.    d.  The Moon.

41.
What theory of the Moon's origin is favored by most astronomers today?


a.
The Moon formed as a separate object near Earth and at about the same time.


b.
The Moon formed far from Earth and was captured by its gravity.


c.
The Moon originated as material torn from the young, mostly molten Earth by centrifugal or tidal forces.


d.
The Moon originated as material torn from Earth by the collision of a large Mars-sized body.

42.
Other than at optical and radio wavelengths, most forms of electromagnetic radiation are best studied:

a. From elevated peaks on the Earth. B. During the day. c. By photometers. d.  From space.

43.
Which of the following regions of the Earth appears to be unique to it (it is not found on any other body in the solar system)?


a.
atmosphere   b.  hydrosphere  c. mantle  d. core    e.  magnetosphere

44.
Where are the asteroids generally found in the solar system?   a.  beyond the orbit of Uranus  b.  between the orbits of Mars and Jupiter  c.  among the orbits of the terrestrial planets  d.  among the orbits of the jovian planets  e. between the orbits of Jupiter and Saturn

45.
Which of the following is NOT a way in which the terrestrial and jovian planets differ?  a.
The terrestrial worlds are small and dense, while the jovian worlds are large and gaseous.


b.
The terrestrial worlds have few or no moons, while the jovian worlds have many moons.


c.
The orbits of the terrestrial worlds are relatively close together, while the orbits of the jovian worlds are far apart.


d.
The jovian planets have orbits that are highly inclined to the ecliptic and do not revolve in the same direction as the terrestrial planets.

46.
In what part of the atmosphere does life occur?


a.
troposphere   b.  stratosphere     c.  ionosphere

47.
Would the Moon be a good place to do astronomy?


a.
No, because it is too close to the Earth and light reflected from the Earth interferes with the darkness of the lunar skies.


b.
Yes, because the Moon lacks an atmosphere.


c.
No, because people can not survive for long on the Moon.


d.
Yes, because lunar soil contains glass, which is useful in the construction of telescope mirrors.

48.
What is the age of the lunar maria compared to the 4 billion year age of the highlands?


a.
5.5 billion years   b.  4 to 4.6 billion years  c. 3.2 to 3.9 billion years  d.  1.1 to 1.6 billion years  e.   500 to 600 million years

49.
_____ is responsible for the formation of the earth's atmospheric ozone layer and upper ionosphere.

50.
This type of telescope has a mirror with a hole in the middle.  The focus is behind the back of the mirror.  a.  Newtonian  b.  Prime focus  c. Coude'  

     d. Cassegrain

51.
A gravitational "sling-shot":  a. Causes meteorites to crash into planets and moons in the solar system.
b.  Changes the speed and direction of planetary spacecraft as they pass near a planet or moon.
c.  Is a myth of the ancient Greeks.


d.
Is the accepted explanation for the formation of planetary rings.  e.  Is a theory about how the solar system formed when a star passed close to the Sun.

52.
Pluto is most like a(n) __________.


a.
asteroid
b.  jovian planet     c.  terrestrial planet     d.  jovian moon

53. Refracting telescopes suffer from this type of defect.  Light of different wavelengths is focused at different positions.  a. Diffraction limited  

      b.  Seeing c.  Chromatic aberration  d.  Refraction

54.
The Greenhouse effect results in a _____ temperature at a planetary surface.

55.
The principal difference in composition between the Sun and the gas-giant planets on one hand, and the terrestrial planets on the other, is the lack of the two elements ______ in the terrestrial planets.

56.
What is "weird terrain"?


a.
A region of oddly rippled and wavy surface features on Mercury.


b.
A region of high mountains and low valleys on Mercury.


c.
A region where the walls of Mercury's craters appear strangely crumbled.


d.
The entire surface of Mercury is classified as "weird terrain."

57.
What is the resolving power of a telescope?


a.
its ability to distinguish two adjacent objects in the sky


b.
its ability to collect a large amount of light


c.
the amount of magnification


d.
its ability to separate light into various wavelengths

58.
The geological hypothesis of a non-static crust whereby slow convection currents in the plastic mantle of the Earth cause movement in crustal plates is ______.

59.
The amount of diffraction depends on what factor or factors?


a.
the wavelength used and the telescope size


b.
the type of focus used


c.
whether the telescope is a refractor or a reflector


d.
the brightness of an object and amount of seeing

60.
The most abundant element in the solar system is _____.

61.
Mercury's Caloris basin is named appropriately because:  a.  It is a region on the planet's surface similar to the "painted desert" in Arizona.


b.
It is the only such basin on Mercury.


c.
It is a hot region because it points towards the sun when Mercury is at perihelion.


d.
It is the largest basin in Mercury.

62.
Mercury's evolution was different from that of the Moon because:


a.
Moons and planets are different sorts of objects and thus they evolve differently.


b.
Mercury has at least a tenuous atmosphere while the Moon has no atmosphere.


c.
Mercury was subject to a more intense meteoritic bombardment than the Moon.


d.
Mercury's iron core cooled and shrank, causing Mercury's surface to contract.

63.
The planets which, as a class, are the least dense are the _____.

64.
For what is an interferometer used?


a.
to decrease the effects of atmospheric seeing for optical telescopes


b.
to decrease the effects of light pollution in the images


c.
to increase the sensitivity of infrared telescopes


d.
to improve the angular resolution of radio telescopes


e.
to process images from a CCD

65.
Which of the following is not a factor in determining whether a body in the solar system retains an atmosphere?


a.
composition of the gases   b.  temperature  

     c.  escape velocity   d.  rate of rotation e.
distance from the sun

66.
How do the escape velocities of the jovian planets compare to the terrestrial planets?


a.
The jovian planets have much higher escape velocities.


b.
There is little variation among the planets.


c.
The escape velocities vary greatly from planet to planet but there are no general differences between jovian and terrestrial planets.


d.
The terrestrial planets have higher escape velocities.

67.
Evidence that the Earth's interior was nearly completely molten at one time is given by the _____ of chemical elements from the surface to the core.

68.
The existence of Earthquake shadow zones indicates that there is an abrupt change between the properties of the mantle and those of the core; in particular, the transverse wave shadow zone shows that the outer core must be _____.

69.
The most massive planet in the solar system ______.

70.
Tidal forces between the Earth and the Moon ____ the size of the Moon's orbit.

71.
A telescope using glass lenses may be constructed because of the _____ property of light.

72.
The composition of comets is __________.

73.
One of the effects of Earth's atmosphere on images is to significantly degrade resolution, a problem referred to as ______.

74.
Give three principal divisions within the structure of the Earth's interior, in order of increasing depth below the surface.

75.
The defect of focusing red and blue light in different positions by a refracting telescope is known as _______.

76.
Modern astronomical observation at the telescope has greatly benefited from highly sensitive light detection devices like the _____.

77.
What are three types of interplanetary debris?  How are they different from one another?

78.
Very accurate measurements of light intensity are made using a _____.

79.
The magnetic field of Mercury is presumably a ______, left over from the planet's early history.

80.
Identify the two types of planets in the solar system and describe in as many ways as possible their differences and similarities.  Where does Pluto fit into this picture?

81.
For what reasons do we consider the planets of our solar system to be of two fundamentally different types?  Be specific.

82.
In visual appearance, Mercury appears nearly identical to the Moon, except that Mercury lacks prominent ______.

83.
By use of a simple graph with labeled axes, explain how radioactive dating works.

84.
One mercurian day is equal to ______ of its orbital periods.

85.
What are adaptive optics designed to overcome?

86.
Describe the theory of plate tectonics.  Include in your discussion the relevance of the density of the crust, oceanic rifts, mountain formation, and sources of energy.

87.
For what is interferometry used?

88.
In order for a planet to retain an appreciable amount of a particular gas in its atmosphere, the mean molecular velocity of the molecule of that gas must be less than about one-sixth of the ______ of the planet.

89.
The Moon, Mars, and Mercury have no or little atmosphere because _____.

90.
What relationship does the rotation of the Moon have to its orbit about the Earth?  Explain.

91.
Name three types of astronomical observation of the last two decades that have involved non-visible radiation and explain how each contributed to our developing scientific understanding of the universe.

92.
What scientific arguments were used to justify the expense of placing a large telescope like the Hubble Space Telescope into an orbit above the atmosphere?

93. Explain how a lens makes an image of a tree.  Why does covering the top half of the lens not remove the tree top from the image that is viewed?  Why are the red apples in the tree not in 


focus with the green leaves?

94.
Why has Mercury traditionally been such a hard planet to observe and study?

95.
At different longitudes around the equator of Mercury, the mid-day temperature will differ in spite of the lack of an atmosphere and weather on the planet.  Explain.  Where do the hot longitudes occur?  Where would you expect the cool longitudes to be? 

